::‘/9:7’0)7‘:&50)‘{}2[5[‘;2/1/5,?‘

&
vA—U—-F—n F P KK F

%




oo oodn

5.1 OO0

gggoobboobbboooooooooon
ggogobbobobbotboooooooobooon
ggogobbobobbotboooooooobooon
ggogobbobobbotboooooooobooon
gogoooboooobod

gggoobboobbboooooooooon
ggogobbobobbotboooooooobooon

52 0O0O0O0OO

gggoobboobbboooooooooon
googn
O00o00bDOooDoDooboonL3gnogog
gogogooboobood
05.10

o0

» o0

ooo

x 000000000
o0

oooooo

o0

<

N oD

gooogooboobboooooooon
ggoooobobobobbboooooooobon
gbobobooboobobobobooooon
godooooobbobboooooooooobon
good
ggoooobobobobbooooooooon
gogoogoboboobboooooooonon

gogoooobobobobbooooooooon
goood

gogogoobooobbboogooo

gogoooboobboooooooooobooo

gogogoobooobbboogooo
0s51000000000000000000
goooooon
U0wODODeO0UOODODOOOOO0OODOOO
godooooobbobboooooooooon
MeOODOOODODOD

05. 20

S
I
S

193



w<a w=a

w>a

oo 00

— Wi |~—

2wt —~

~— 3wt —

—

wt

~—2wt—

3wt

051 00OoOobobobooooooobooboon

O000MeODDOODOODOODOODOO
gogooooooo

Ma<1 O0O0O0OO0OODODOODO

Me=1 0O0O00OD0ODODOO0OODOODO
Me>1 00O000O0O0ODODOODO

Me>5 0000D0OOODOOO
O0O000O00DO00DO0o0oogos1b0mao
ggogobobobobboboooooooobooon
goboobooboobooboooboooboo
ggogobobobobboboooooooobooon
gogooooooo
goggoobboobbbooooooooooboo
gogooooooo

05.30

194

-

“ ?

/

052 0035



00 35
goon
gogodooooobobooboboboooooooo
0003000000000 5.2010
O0e=333m/s0000000000 wO
gogoon
gdd
005300 000000000000000
ERERN

- 71 —_
sin 30°

1
0.5

05200 000000«0 00000000

w=a-Ma
w=333-2=0666m/s
w = 2,400km/h

5.3 Oodggg

5.3.1 00000
gggoobboobbboooooooooon
00o0o000os3000000000000 A0

00000m, 00000000 »m,000A;:-14

o0, 00boo0booboooooooo
my = A lpy
O00nL0000w,000dt000000O0

ooo
Iy = wy-dt

my Al'wl'dt'pl

00000000000 dtD0o0o0Doon
mODO0O0o00o0ooooooooooooboagd
O0dt00000000m®m. 000000000
good

mo Ag'Wg'dt‘pg

my

mo = m
A1~w1-dl‘-p1=A2~w2-dt-p2

Ay-wy - pr= Ay wy - o

000DA0O0DDwwODOODOOODOVOODOO
O0D00A00DwOODOOpO0DODOODO
gobx®mbOO00O
U0 p000wd0OO0O0DO0OOO0OO0O0ODOOO
ud
gogoooobobobobbooooooooon
ud
05.40

mo= A wi Py

=A2'U/'2’p2=A'W’p=|:|D

195



O000000A=/)000000000 w;
0p,00000000000000000000
D0wOODp00000000000O05. 400
000000000000 p000000000
000000000 000O0Ooond

000000000000 0ADODOOOO0
00wwDODO00O0O000p00000000Mm

O00A0DDDODOOOODOw#wOODODODOO0O
00p00000000Mm

0000000000000 00000000
0D000000000000ADOCOOOOOD
0000000000000 0000000On
0Doooog

000000000005400000000
0Doooo

053 O000O0OD0OOODOO

5.3.2 OO0O0OO0ooodn
gooodooooooooooooooon
gooooooooooa
gooooooomoboooooooooa
m-g-z
goooooooo
Vip=m-v-p=0m/p)-p
gooooooon
m-w/2
goooooooo
m-u
gooodooooooooooooooon
gooboooodoboboobooooobon
ooodoooobooooooooogoooo
gooooooooooo

m w?

m-g-z2+—-p+m-——+m-u=[01001
o 2
05.50
2
g~z+£+w—+u=DD
o 2

goboogoooooouobbooooboogg
gogoooobobobobiOm-g-z0 000000

ooood ooooo oOoood
ogoooood Doooooooon
\ Wy > W1 We < W
— = pra<p prai>p
T 2st < Plst 2st > Plst
@ @
/ T2<T1 T2>T1
P2 < P1 P2>P1
Ooooooooon ogoooood
W2 < W1 w2 > w1
a — paei>p pra<h
- - > 2st Ist 2st Ist
@ @
T2>T1 T2<T1
P2> P1 P2<pP1

gs4 OD0oopooooboboooooboboboboooooooboon

196



00000000 oooUp/p0Odl. 30000
ggogoboooobod

Ag—pm=RyTDDDDDDDDD

01.310000000000RO0O0O0ODOO0O
gogooooooo

O00000p/pO00O000O0O00O0O0OOO

£=(cp—c\,)-T
0

gboodbdb«000000000000
HEN

u=c, T

goboooopooos. sooobogoooogon
gogogobbobobboboooooooobooon
HEN

2
(%_CO'T+%%+CWY‘=DD

2

cVT+%%=DD

c,0TOO00D000ODDOO0ODOROODDOO

5.4 OO4O0oogog

541 00O

5. 20000D00D00DODO0OODODO0
ggogobbobobboboooooooobooon
ggogobbobobboboooooooobooon
ggogobbobobboboooooooobooon
ggogobbobobboboooooooobooon
gogooooon

gogooobboobbbooooooooooboo
gogogoboboobbobooooooooon

gggoobboobbboooooooooon
ggogobbobobbotboooooooobooon

goog
0 5. 60

2

h+ i =00

oooooooos. 6000onooooooon
ggooooobboboboooooooooon
ggooooobboboboooooooooon
000000000 0OOos.s000s5. 600000
ggooooobbobboooooooooon
good

ggoooobobbobbooooooooobon
o5 5000000000005 60000000
goon

5.3.3 00000
4.2.4000000000000000O00DOO
godooooobbobboooooooooon
ggd
gogooooboboobbooooooooobon
gbbgogoboobooboooboobooon
gogooooobooooo

godooooobbobboooooooooobon

ggoooobobobobbooooooooon
gdodooooooooobbobboobobboon
godooooobbobboooooooooobon
00000000 oooo1/1,000mmOd 000
googd

542 000
gbogboboobobobobobobon

510000000000 bO00D0DoDoo0ooDO

gogooooobooooo

197



gs1 0OO0oood

gooooobooo

gboboooboooboo

ooooo
0o @ 0o @ i

— W1>a |— W2<a

Ma1>i

Ma2<i J

gs5 Ooood

gobbogoboboobboooobooooon
gogogooboboboodggo
goopoboooboooooooobooon

pZStat 2K 2
=1 Ma; -1
plstat ¥ K + 1 ( @ )

gooooooooooooooon
ﬂ=1_2"< 1_ 1
w, K +1 Ma?
0000000000000 00 peeesd 00
O000000 000000000 5.611

1.0

0.8

N

\
NES \
0.2 AN
\
0
1 2 3 4 5 6
w
Mal = — 1 >
VK -Ry-Th

gs6 ODO00OO0UOOOOOoOOoOOO
gooooooooon

OoOo0o0obOoooboOoosi1ooos400d
gooooog

Us7 ODOobOoOooobobobooboobon

gbbooooboooobooooboooboo
gobboooobooobbooobogooon
0o ODOOOOO

000000000 Me,DOOOODODODOO
00000040
gdogooooboboobooogd

Dosta _ 1+2'7K(Ma12 -sin® o - 1)
plstat K+ 1

00000000000 pOOOD0DOS8000O
gogooboooood

4o
w1\ L\ 2
ARG ]
\ \ \\/g’§300
S o \ N —
40 N
\\20°
30° \\
20° \\\10o
Oo 2 ~_0°
10° Q“DED\U
o° ‘ ‘
1 2 3 4 5

May —

058 OD0O0O0ODOODOOODOODODOOO

198



5.4.3 00O
ooooos900000000000D00D0ODO
gogooooooobobopuoooouooooon
gogogoobobooobood
Ubpdnotdp. 0o onoonbogn
0000000000 Iob0oooDoOooogon
goooooon
goggoobboobboooooooobooboo
gogogobbobobboboooooooobooon
googn
U0w.00000000000O000O00O0O
000000000 Ma;z>Ma,O
goggoobboobboboooooooooon
0000D00oooDOos1000000o0gog

5.5 OO0

5.5.1 000
gggoobboobbboooooooooon
ggogobbobobbotboooooooobooon
gogogooboobbodogoa
gobbogooboooooooooboboood
ggogobbobobbotboooooooobooon
ggogobbobobbotboooooooobooon
00000000 ooDooooDOooos.aomo
ggogobbobobbotboooooooobooon

ood
........... /
i
o>
w1; p1; May Ny, Zog;
..... - AN
2w,
wi1>ai \~ w. el
------- Sy
“# a2
1w
I %ﬁz \‘{_\%

N

059 O0O00oOooobobooon
googooon

godooooobbobboooooooooobon
gogooooboooo
gbgboboobooboboboboboon
oo0oooooobDoooooobobooooz
godooooobbobboooooooooon
godooooobbobboooooooooon
Jooodz2000000000000000D000
000o000oDOods.2rm

oooooa o
) . @ |
( G ﬁ 7@
] ) )
| b
| pl = w b1 ﬁ\DD w2
Apy q . |
* ! A )
----- w=00 i w=D D

0510 00O0OO0oOooooobobooon

199



052 O0O0O0O

gooooobooo

ooobobogoao

TauISen

us110o0ooad

000000000000 00D00D0DOO Tinnen
000000 Twsas.0 OO OOOO
goggooboobbbbooooooon
ggoooooooboboooboood

ooo

e
‘}7, Tinnen ) 5

TauISen

usi1googog

gbbooooboooobooooboooboo
gobboooobooobboooboooon
gobboooobooobboooboooon
000 Tme 0000 Tagen 0 OO0 0D OOODO
gooooboboobobbodgooo
gboooobooooboooobooooboo
gooooboboobobbodgooo
gogooooon

gbooboobobooboobooboobobbobooboobooboobobboboo
gbooboobbooobooboboboboobooboooboobooboobobooboobo

g|
\
PEEN
I

® M ®

0512 00O00OO0OO0OO0OO0OOoOOobOOobOOoOoO
gooo

200

gogoooobobobobbooooooooon
godooooobbobboooooooooon
goooooon

552 00000000
odgoooo
00d0o0ooooooooooooooono
gooooo4.5600 0000000000000
00 0O 5.12[0

_ .4l p e
dp =-2 79 w

oo0o0/0ooooooooobooooooon
godooooobboboboooooooooon
ggd

000000000 DO0o000ol. 70400
00 p000p000TODOOOODODOOODO
good




e [
STRXhR C
HBRULHFTFEL,



